

Available online at www.sciencedirect.com



J. Math. Anal. Appl. 334 (2007) 1152-1166

Journal of MATHEMATICAL ANALYSIS AND APPLICATIONS

www.elsevier.com/locate/jmaa

# Positive solutions and eigenvalue intervals of nonlocal boundary value problems with delays $\stackrel{\text{\tiny{$x$}}}{\to}$

Dingyong Bai<sup>a,\*</sup>, Yuantong Xu<sup>b</sup>

<sup>a</sup> Department of Mathematics, Shaoguan University, Shaoguan 512005, PR China <sup>b</sup> Department of Mathematics, Zhongshan University, Guangzhou 510275, PR China

> Received 20 August 2006 Available online 4 January 2007 Submitted by J. Henderson

### Abstract

The paper is concerned with the delay differential equation  $u'' + \lambda b(t) f(u(t - \tau)) = 0$  satisfying u(t) = 0 for  $-\tau \le t \le 0$  and  $u(1) = g(\int_0^1 u(t) d\beta(t))$ , where  $\int_0^1 u(t) d\beta(t)$  denotes the Riemann–Stieltjes integral. By applying the fixed point theorem in cones, we show the relationship between the asymptotic behaviors of the quotient  $\frac{f(u)}{u}$  (at zero and infinity) and the open intervals (eigenvalue intervals) of the parameter  $\lambda$  such that the problem has zero, one and two positive solution(s). If g(t) = t, by using a property of the Riemann– Stieltjes integral, the above nonlocal boundary value problem educes a three-point boundary value problem with delay, for which some similar results are established.

© 2007 Elsevier Inc. All rights reserved.

Keywords: Positive solution; Nonlocal boundary value problem; Delay differential equation; Fixed point; Cone

## 1. Introduction

In this paper we consider the following nonlocal boundary value problem of nonlinear delay differential equation

$$u'' + \lambda b(t) f(u(t - \tau)) = 0, \quad 0 < t < 1,$$
(1.1)

Supported by the National Natural Science Foundation of China (Nos. 10471155 and 10571183).

Corresponding author. Current address: Department of Mathematics, Guangzhou University, Guangzhou 510006, PR China.

E-mail addresses: baidingyong@tom.com (D. Bai), xyt@mail.sysu.edu.cn (Y. Xu).

<sup>0022-247</sup>X/\$ - see front matter © 2007 Elsevier Inc. All rights reserved. doi:10.1016/j.jmaa.2006.12.062

1153

$$\begin{cases} u(t) = 0, & -\tau \leq t \leq 0, \\ u(1) = g(\int_0^1 u(t) \, d\beta(t)), \end{cases}$$
(1.2)

where  $\lambda$  is a positive real parameter, and  $\int_0^1 u(t) d\beta(t)$  denotes the Riemann–Stieltjes integral. We assume that

- (A<sub>1</sub>)  $\beta$  is an increasing nonconstant function defined on [0, 1] with  $\beta(0) = 0$ ;
- (A<sub>2</sub>)  $g \in C(\mathbb{R}^+, \mathbb{R}^+)$  and  $g_M := \max\{g(t): 0 \le t \le \beta(1)\} < 1;$
- (A<sub>3</sub>)  $f \in C(\mathbb{R}^+, \mathbb{R}^+)$  and f(u) > 0 for all u > 0;
- (A<sub>4</sub>)  $0 < \tau < \frac{1}{2};$
- (A<sub>5</sub>)  $b \in C((0, 1), \mathbb{R}^+)$  and  $\int_0^1 s(1-s)b(s) ds < \infty$ , and that there is  $\theta \in (\tau, \frac{1}{2})$  such that  $\int_{\rho}^{1-\theta} b(s) ds > 0.$

Note that (A<sub>5</sub>) allows b(t) to have a singularity at t = 0 and/or t = 1, and allows for  $b(t) \equiv 0$  on some subinterval(s) of [0, 1], such as

$$b(t) = t^{-1}(1-t)^{-1} \left( \left| \ln\left(\frac{1}{2} + t\right) \right| \pm \ln\left(\frac{1}{2} + t\right) \right).$$

For the case that  $\tau = 0$ , the problem (1.1)–(1.2) is related to the nonlocal boundary value problem of ordinary differential equation. Nonlocal BVPs of ordinary differential equations arise in a variety of areas of applied mathematics and physics (see [1,2]). In recent years, more and more papers were devoted to deal with the existence of positive solutions of nonlocal BVPs since the existence problem of solutions for a linear nonlocal BVP had been studied for the first time by II'in and Moiseev [3] in 1987. We refer the reader to [4–8] and the references therein.

However, there are relatively rare existence results of positive solutions for nonlocal BVPs of second-order differential equations with delays. The BVPs for second-order delay equations arise in many areas of applied mathematics, physics and variational problems of control theory (see [9]). Recently, local BVPs of second-order delay differential equations have received a lot of attention accompanied by the development of the theory of functional differential equations, see, for example [10–14], and the references therein. Therefore, in Section 2 of this paper we consider the positive solutions of the singular nonlocal boundary value problem (1.1)–(1.2). Our interest is the relationship between the asymptotic behaviors of the quotient of  $\frac{f(u)}{u}$  (at zero and infinity) and the open intervals (eigenvalue intervals), which are correlative with delay  $\tau$ , such that (1.1)–(1.2) has zero, one and two positive solution(s).

If g(t) = t,  $t \in \mathbb{R}^+$ , the nonlocal boundary value problem (1.1)–(1.2) educes a three-point boundary value problem with delay by applying the following well-known property of the Riemann–Stieltjes integral.

## Lemma 1.1. Assume that

- (1) u(t) is a bounded function valued on [a, b], i.e., there exist  $c, C \in \mathbb{R}$  such that  $c \leq u(t) \leq C$ ,  $\forall t \in [a, b]$ ;
- (2)  $\beta(t)$  is increasing on [a, b];
- (3) the Riemann–Stieltjes integral  $\int_a^b u(t) d\beta(t)$  exists.

Then there is a number  $v \in \mathbb{R}$  with  $c \leq v \leq C$  such that  $\int_a^b u(t) d\beta(t) = v(\beta(b) - \beta(a))$ .

For any continuous solution u(t) of (1.1)–(1.2), by Lemma 1.1, there exists  $\eta \in (0, 1)$  such that

$$\int_{0}^{1} u(t) d\beta(t) = u(\eta) (\beta(1) - \beta(0)) = u(\eta)\beta(1).$$

Let  $\sigma = \beta(1)$  and g(t) = t,  $\forall t \in \mathbb{R}^+$ . Then the problem (1.1)–(1.2) can be rewritten as the following three-point boundary value problem of delay differential equation

$$u'' + \lambda b(t) f(u(t - \tau)) = 0, \quad 0 < t < 1,$$
(1.3)

$$\begin{cases} u(t) = 0, & -\tau \leq t \leq 0, \\ \sigma u(\eta) = u(1), & \eta \in (0, 1). \end{cases}$$
(1.4)

In 1999, by using a fixed point theorem in cones, R. Ma [15] initiated the study of positive solutions for the problem (1.3)–(1.4) with  $\lambda = 1$  and  $\tau = 0$ , in which f is superlinear or sublinear at zero and infinity and b is not singular. A key condition of discussing the existence of positive solutions for the three-point BVP (1.3)–(1.4) is put forward in [15], which is stated as follows:

(A<sub>6</sub>)  $0 < \sigma \eta < 1$ .

Similar to the method of dealing with (1.1)–(1.2), in Section 3 of this paper, we establish the existence, no-existence and multiplicity of positive solutions for the problem (1.3)–(1.4). Our results extend and improve the results in [10,15].

The main tool of this paper is the following fixed point index theorem [16-18].

**Lemma 1.2.** Let  $X = (X, \|\cdot\|)$  be a Banach space and  $K \subset X$  a cone. For r > 0, define  $K_r = \{u \in K : \|u\| < r\}$ . Assume that  $T : \overline{K}_r \to K$  is a completely continuous operator such that  $T u \neq u$  for  $u \in \partial K_r = \{u \in K : \|u\| = r\}$ .

(1) If  $||Tu|| \ge ||u||$  for  $u \in \partial K_r$ , then  $i(T, K_r, K) = 0$ . (2) If  $||Tu|| \le ||u||$  for  $u \in \partial K_r$ , then  $i(T, K_r, K) = 1$ .

Also, the concavity of solution of (1.1)–(1.2) (and (1.3)–(1.4)) is sufficiently used in the proofs of our main results. The following lemma can be easily proved by the concavity of u(t) on [a, b] (see [12]).

**Lemma 1.3.** Assume that  $u \in C[a, b]$  (a < b) is a nonnegative and concave function with u(a) = 0,  $u(b) \ge 0$ . Then for any fixed number  $\delta$ :  $a < \delta < \frac{a+b}{2}$ ,

$$u(t) \ge \frac{\delta - a}{b - a} \|u\|_{[a,b]}, \quad t \in [\delta, b + a - \delta].$$

In particular, if a = 0, b = 1 and  $0 < \tau < \delta < \frac{1}{2}$ , then

$$u(t-\tau) \ge (\delta-\tau) \|u\|_{[0,1]}, \quad t \in [\delta, 1-\delta].$$

*Here*  $\|\cdot\|_{[a,b]}$  *stands for the sup-norm of* C[a,b]*.* 

**Remark 1.1.** The ideas of this paper could be extended so that some similar results may be established for the following more general functional differential equation

$$u'' + \lambda b(t) f(u(h(t))) = 0, \quad 0 < t < 1,$$
(1.5)
$$\int u(t) = u(t) \quad z_{1} < t < 0$$

$$\begin{cases} u(t) = \mu(t), & -\tau_0 \le t \le 0, \\ u(1) = g(\int_0^1 u(t) \, d\beta(t)). \end{cases}$$
(1.6)

Here  $\mu \in C[-\tau_0, 0]$  with  $\mu(0) = 0$  and  $\mu > 0$  on  $[-\tau_0, 0)$ , h(t) is a real-valued continuous function,  $h(t) \leq t$  with h having a unique zero  $\tau$  on [0, 1) such that h < 0 on  $[0, \tau)$ , h > 0 strictly increasing on  $(\tau, 1]$ ,  $\tau_0 = -\min_{t \in [0, 1]} h(t)$ . If  $0 < \tau < \frac{1}{2}$  and  $u \in C[0, 1]$  is a nonnegative concave function with u(0) = 0,  $u(1) \ge 0$ , then for  $\forall \delta$ :  $0 < \tau < \delta < \frac{1}{2}$ , one can prove that

$$u(h(t)) \ge h(\delta) ||u||, \quad t \in [\delta, 1-\delta].$$

u(t) is called a positive solution of (1.1)–(1.2) or (1.3)–(1.4) if it satisfies that

(1) u ∈ C[-τ, 1] ∩ C<sup>2</sup>(0, 1);
(2) u(t) > 0 for all t ∈ (0, 1) and satisfies (1.2) or (1.4), respectively;
(3) u'' = -λb(t) f (u(t − τ)) for t ∈ (0, 1).

## 2. Positive solutions of (1.1)–(1.2)

Let

$$X = \left\{ u \in C[-\tau, 1]: \ u(t) = 0, \ \forall t \in [-\tau, 0] \right\}$$

with norm  $\|\cdot\|$  given by  $\|u\| = \sup\{|u(t)|: -\tau \le t \le 1\}$ . Then  $(X, \|\cdot\|)$  is a Banach space. It is obvious that  $\|u\|_{[0,1]} = \|u\|$  for  $u \in X$ :  $u \ge 0$ . Here  $\|\cdot\|_{[0,1]}$  stands for the sup-norm of C[0, 1]. Define K to be a cone in X by

 $K = \{ u \in X : u(t) \text{ is concave and nonnegative on } [0, 1] \}.$ 

Let  $T_{\lambda}: K \to X$  be a map defined by

$$T_{\lambda}u(t) = \begin{cases} 0, & -\tau \leq t \leq 0, \\ \lambda \int_0^1 G(t,s)b(s)f(u(s-\tau))\,ds + g(\int_0^1 u(s)\,d\beta(s))t, & 0 \leq t \leq 1. \end{cases}$$

It is easy to see that  $T_{\lambda}(K) \subset K$ . So the problem (1.1) and (1.2) is equivalent to the fixed point equation  $T_{\lambda}u = u$ ,  $u \in K$ . Also, one can verify that  $T_{\lambda}$  is completely continuous by the Arzela–Ascoli theorem.

For convenience, denote that for  $h \in C(\mathbb{R}^+, \mathbb{R}^+)$ ,

$$h^{\alpha} = \lim_{u \to \alpha} \frac{h(u)}{u}, \quad h_{\alpha} = \lim_{u \to \alpha} \frac{h(u)}{u}, \quad \alpha = 0^{+}, \infty,$$
$$\max\{f^{\alpha}\} = \max_{\alpha \in \{0^{+}, \infty\}} \{f^{\alpha}\}, \quad \min\{f_{\alpha}\} = \min_{\alpha \in \{0^{+}, \infty\}} \{f_{\alpha}\},$$

and

$$M(r) = \max\{f(u) \mid 0 \leq u \leq r\}, \quad r > 0,$$
  

$$m(r) = \min\{f(u) \mid (\theta - \tau)r \leq u \leq r\}, \quad r > 0,$$
  

$$B_1 = \sup_{t \in [0,1]} \int_{\theta}^{1-\theta} G(t,s)b(s) \, ds, \qquad B_2 = \int_{0}^{1} G(s,s)b(s) \, ds,$$

1155

where G(t, s) is given by

$$G(t,s) = \begin{cases} (1-t)s, & 0 \le s \le t \le 1, \\ t(1-s), & 0 \le t \le s \le 1. \end{cases}$$

**Lemma 2.1.** Assume that  $(A_1)$ – $(A_5)$  hold. Take  $r_0 = 1$ . Then

(i)  $i(T_{\lambda}, K_{r_0}, K) = 0$  for  $\lambda > \frac{1}{m(1)B_1} > 0$ , (ii)  $i(T_{\lambda}, K_{r_0}, K) = 1$  for  $0 < \lambda < \frac{1-g_M}{M(1)B_2}$ .

**Proof.** (i) For  $u \in \partial K_{r_0}$ , we have from Lemma 1.3 that

 $u(t-\tau) \ge (\theta - \tau) \|u\|, \quad t \in [\theta, 1-\theta],$ 

which implies that

$$(\theta - \tau)r_0 \leq u(t - \tau) \leq r_0, \quad t \in [\theta, 1 - \theta],$$

and consequently that

$$f(u(t-\tau)) \ge m(r_0) = m(1), \quad t \in [\theta, 1-\theta].$$

Thus we have that for  $u \in \partial K_{r_0}$ ,

$$\|T_{\lambda}u\| = \sup_{t \in [0,1]} \left\{ \lambda \int_{0}^{1} G(t,s)b(s) f(u(s-\tau)) ds + g\left(\int_{0}^{1} u(s) d\beta(s)\right) t \right\}$$
  

$$\geq \lambda \sup_{t \in [0,1]} \int_{0}^{1} G(t,s)b(s) f(u(s-\tau)) ds$$
  

$$\geq \lambda \sup_{t \in [0,1]} \int_{\theta}^{1-\theta} G(t,s)b(s) f(u(s-\tau)) ds$$
  

$$\geq \lambda \sup_{t \in [0,1]} \int_{\theta}^{1-\theta} G(t,s)b(s)m(1) ds$$
  

$$> 1 = \|u\|.$$

It follows from Lemma 1.2 that  $i(T_{\lambda}, K_{r_0}, K) = 0$  for  $\lambda > \frac{1}{m(1)B_1} > 0$ . (ii) For  $u \in \partial K_{r_0}$ , we have

$$f(u(t-\tau)) \leqslant M(r_0) = M(1), \quad t \in [0,1],$$

and

$$0 \leqslant \int_{0}^{1} u(t) \, d\beta(t) \leqslant \beta(1).$$

Thus we have that for  $u \in \partial K_{r_0}$ ,

1156

$$\|T_{\lambda}u\| \leq \lambda \int_{0}^{1} G(s,s)b(s)f(u(s-\tau))ds + g\left(\int_{0}^{1} u(s)d\beta(s)\right)$$
$$\leq \lambda M(1)\int_{0}^{1} G(s,s)b(s)ds + g_{M}$$
$$< 1 = \|u\|.$$

It follows from Lemma 1.2 that  $i(T_{\lambda}, K_{r_0}, K) = 1$  for  $0 < \lambda < \frac{1-g_M}{M(1)B_2}$ .  $\Box$ 

For 
$$h \in C(\mathbb{R}^+, \mathbb{R}^+)$$
, define  $\tilde{h}(t) : \mathbb{R}^+ \to \mathbb{R}^+$  by  
 $\tilde{h}(t) = \max\{h(u): 0 \le u \le t\}.$ 

**Lemma 2.2.** For  $h \in C(\mathbb{R}^+, \mathbb{R}^+)$ , if  $h^{\alpha} < \infty$ ,  $h_{\alpha} > 0$ , then

$$\tilde{h}^{\alpha} = h^{\alpha}, \quad \tilde{h}_{\alpha} = h_{\alpha}, \quad \alpha = 0^+, \infty.$$

**Proof.** One can find some similar results in [12,19]. This lemma can be similarly proved as the methods in [19]. 

Throughout this section, we assume that  $p_1$ ,  $p_2$  are two positive numbers satisfying  $\frac{1}{p_1}$  +  $\frac{1}{p_2} \leqslant 1.$ 

Theorem 2.1. Assume (A1)-(A5) hold.

- (1) If  $f^{\alpha} < \infty$  and  $g^{\alpha} < \frac{1}{p_2\beta(1)}$  for  $\alpha = 0^+$  or  $\infty$ , then (1.1)–(1.2) has at least one positive solution for  $\lambda \in (\frac{1}{m(1)B_1}, \frac{1}{f^{\alpha}B_2p_1})$ .
- (2) If  $f^{\alpha} < \infty$  and  $g^{\alpha} < \frac{1}{p_2\beta(1)}$  for  $\alpha = 0^+$  and  $\infty$ , then (1.1)–(1.2) has at least two positive solutions for  $\lambda \in (\frac{1}{m(1)B_1}, \frac{1}{\max\{f^{\alpha}\}B_2p_1})$ .
- (3) If  $f_{\alpha} > 0$  for  $\alpha = 0^+$  or  $\infty$ , then (1.1)–(1.2) has at least one positive solution for  $\lambda \in (\frac{1}{(\theta \tau)f_{\alpha}B_{1}}, \frac{1-g_{M}}{M(1)B_{2}}).$ (4) If  $f_{\alpha} > 0$  for  $\alpha = 0^+$  and  $\infty$ , then (1.1)–(1.2) has at least two positive solutions for  $\lambda \in (\frac{1}{(\theta \tau)\min\{f_{\alpha}\}B_{1}}, \frac{1-g_{M}}{M(1)B_{2}}).$ (5) If  $f^{0} < \infty$ ,  $g^{0} < \frac{1}{p_{2}\beta(1)}$ , and  $f_{\infty} > 0$ , then (1.1)–(1.2) has at least one positive solution for
- $\lambda \in \left(\frac{1}{(\theta-\tau)f_{\infty}B_1}, \frac{1}{f^0B_2n_1}\right).$
- (6) If  $f^{\infty} < \infty$ ,  $g^{\infty} < \frac{1}{p_2\beta(1)}$ , and  $f_0 > 0$ , then (1.1)–(1.2) has at least one positive solution for  $\lambda \in (\frac{1}{(\theta-\tau)f_0B_1}, \frac{1}{f^{\infty}B_2p_1}).$
- (7) If  $f_{\alpha} > 0$  for  $\alpha = 0^+$  and  $\infty$ , then (1.1)–(1.2) has no positive solution for sufficiently large  $\lambda > 0.$
- (8) If  $f^{\alpha} < \infty$  for  $\alpha = 0^+$  and  $\infty$ , and  $g(t) \leq t$  for t > 0, then (1.3)–(1.4) has no positive solution for sufficiently small  $\lambda > 0$ .

**Proof.** (1) First we consider the case:  $\alpha = 0^+$ . Take a sufficiently small positive number  $\epsilon$ :  $0 < \epsilon < \frac{1}{p_2\beta(1)}$  such that  $g^0 \leq \frac{1}{p_2\beta(1)} - \epsilon$  and  $0 < \lambda < \frac{1}{(f^0 + \epsilon)B_2p_1}$ . Then there exists  $\eta_1$ :  $0 < \eta_1 < 1$ , such that

$$g(t) \leq \left(\frac{1}{p_2\beta(1)} - \epsilon\right)t \quad \text{for } 0 < t \leq \eta_1.$$

By  $f^0 < \infty$ , we have from Lemma 2.2 that there exists  $\eta_2$ :  $0 < \eta_2 < 1$ , such that

$$\tilde{f}(t) < (\tilde{f}^0 + \epsilon)t = (f^0 + \epsilon)t \quad \text{for } 0 < t \le \eta_2.$$

Take  $r_1 = \min\{\eta_2, \frac{\eta_1}{\beta(1)}\}$ . Then for  $u \in \partial K_{r_1}$ , we have  $\int_0^1 u(t) d\beta(t) \leq r_1\beta(1) \leq \eta_1$ , and

$$g\left(\int_{0}^{1} u(t) d\beta(t)\right) \leqslant \left(\frac{1}{p_2\beta(1)} - \epsilon\right) \int_{0}^{1} u(t) d\beta(t) \leqslant \frac{1}{p_2\beta(1)}\beta(1)r_1 = \frac{r_1}{p_2}.$$

Thus we have that for  $u \in \partial K_{r_1}$ ,

$$\|T_{\lambda}u\| \leq \lambda \int_{0}^{1} G(s,s)b(s)f(u(s-\tau))ds + g\left(\int_{0}^{1} u(t)d\beta(t)\right)$$
$$\leq \lambda \int_{0}^{1} G(s,s)b(s)\tilde{f}(r_{1})ds + \frac{r_{1}}{p_{2}}$$
$$\leq \lambda (f^{0}+\epsilon)r_{1}\int_{0}^{1} G(s,s)b(s)ds + \frac{r_{1}}{p_{2}}$$
$$< \left(\frac{1}{p_{1}}+\frac{1}{p_{2}}\right)r_{1} \leq \|u\|$$

for  $0 < \lambda < \frac{1}{f^0 B_2 p_1}$ . It follows from Lemma 1.2 that

$$i(T_{\lambda}, K_{r_1}, K) = 1 \quad (0 < r_1 < 1) \text{ for } 0 < \lambda < \frac{1}{f^0 B_2 p_1}.$$
 (2.1)

For the case  $\alpha = \infty$ , we can take a sufficiently small positive  $\epsilon$ :  $0 < \epsilon < \frac{1}{p_2\beta(1)}$  such that  $g^{\infty} \leq \frac{1}{p_2\beta(1)} - \epsilon$  and  $0 < \lambda < \frac{1}{(f^{\infty} + \epsilon)B_2p_1}$ . Then there is  $\hat{R}_1 > 0$  such that  $g(t) \leq (\frac{1}{p_2\beta(1)} - \epsilon)t$  for  $t \geq \hat{R}_1$ . By  $f^{\infty} < \infty$ , we have from Lemma 2.2 that there exists  $\hat{R}_2 > 0$  such that  $\tilde{f}(t) \leq (f^{\infty} + \epsilon)t$  for  $t \geq \hat{R}_2$ . Take  $r_2 > \max\{\hat{R}_2, \frac{\hat{R}_1}{\theta(\beta(1-\theta) - \beta(\theta))}\} + 1$ . Then for  $u \in \partial K_{r_2}$ , we have from Lemma 1.3 that

$$\int_{0}^{1} u(t) d\beta(t) \ge \int_{\theta}^{1-\theta} u(t) d\beta(t) \ge \theta ||u|| (\beta(1-\theta) - \beta(\theta)) > \hat{R}_{1},$$

which implies that

$$g\left(\int_{0}^{1} u(t) d\beta(t)\right) \leqslant \left(\frac{1}{p_2\beta(1)} - \epsilon\right) \int_{0}^{1} u(t) d\beta(t) \leqslant \left(\frac{1}{p_2\beta(1)} - \epsilon\right) r_2\beta(1) \leqslant \frac{r_2}{p_2}.$$

Thus we have that for  $u \in \partial K_{r_2}$ ,

$$\|T_{\lambda}u\| \leq \lambda \int_{0}^{1} G(s,s)b(s)f(u(s-\tau))ds + \frac{r_{2}}{p_{2}}$$
$$\leq \lambda \int_{0}^{1} G(s,s)b(s)\tilde{f}(r_{2})ds + \frac{r_{2}}{p_{2}}$$
$$\leq \lambda (f^{\infty} + \epsilon)r_{2} \int_{0}^{1} G(s,s)b(s)ds + \frac{r_{2}}{p_{2}}$$
$$< \left(\frac{1}{p_{1}} + \frac{1}{p_{2}}\right)r_{2} \leq \|u\|$$

for  $0 < \lambda < \frac{1}{f^{\infty}B_2p_1}$ . It follows from Lemma 1.2 that

$$i(T_{\lambda}, K_{r_2}, K) = 1$$
  $(r_2 > 1)$  for  $0 < \lambda < \frac{1}{f^{\infty} B_2 p_1}$ . (2.2)

On the other hand, Lemma 2.1(i) shows that

$$i(T_{\lambda}, K_{r_0}, K) = 0$$
  $(r_0 = 1)$  for  $\lambda > \frac{1}{m(1)B_1}$ . (2.3)

Therefore we have from the additivity of fixed point index that for the case  $\alpha = 0^+$ ,

$$i(T_{\lambda}, K_{r_0} \setminus \overline{K}_{r_1}, K) = i(T_{\lambda}, K_{r_0}, K) - i(T_{\lambda}, K_{r_1}, K) = -1$$
(2.4)

for  $\frac{1}{m(1)B_1} < \lambda < \frac{1}{f^0 B_2 p_1}$ , and that for the case  $\alpha = \infty$ ,

$$i(T_{\lambda}, K_{r_2} \setminus \overline{K}_{r_0}, K) = i(T_{\lambda}, K_{r_2}, K) - i(T_{\lambda}, K_{r_0}, K) = 1$$
(2.5)

for  $\frac{1}{m(1)B_1} < \lambda < \frac{1}{f^{\infty}B_2p_1}$ . Thus we can conclude that for the case  $\alpha = 0^+$ ,  $T_{\lambda}$  has a fixed point u in  $K_{r_0} \setminus \overline{K}_{r_1}$  with  $r_1 < \|u\| < r_0$ , which implies that (1.1) and (1.2) has a positive solution for  $\frac{1}{m(1)B_1} < \lambda < \frac{1}{f^0B_2p_1}$ , and that for the case  $\alpha = \infty$ ,  $T_{\lambda}$  has a fixed point u in  $K_{r_2} \setminus \overline{K}_{r_0}$  with  $r_0 < \|u\| < r_2$ , which implies that (1.1)–(1.2) has a positive solution for  $\frac{1}{m(1)B_1} < \lambda < \frac{1}{f^{\infty}B_2p_1}$ .

(2) From (2.1)–(2.3) and the additivity of fixed point index, we can make (2.4) and (2.5) hold simultaneously for  $\frac{1}{m(1)B_1} < \lambda < \frac{1}{\max\{f^{\alpha}\}B_2p_1}$ . It follows that  $T_{\lambda}$  has a fixed point  $u_1$  in  $K_{r_0} \setminus \overline{K}_{r_1}$ and a fixed point  $u_2$  in  $K_{r_2} \setminus \overline{K}_{r_0}$ , satisfying  $r_1 < ||u_1|| < r_0 < ||u_2|| < r_2$ . Consequently, (1.1)– (1.2) has two positive solutions for  $\frac{1}{m(1)B_1} < \lambda < \frac{1}{\max\{f^{\alpha}\}B_2p_1}$ .

(3) First we consider the case:  $\alpha = 0^+$ . Take a sufficiently small positive number  $\epsilon$ :  $0 < \epsilon < f_0$ , such that

$$\frac{1}{(\theta-\tau)(f_0-\epsilon)B_1} < \lambda < \frac{1-g_M}{M(1)B_2}.$$

By  $f_0 > 0$ , there is  $r_3$ :  $0 < r_3 < 1$  such that  $f(u) \ge (f_0 - \epsilon)u$  for  $0 < u \le r_3$ . Then for  $u \in \partial K_{r_3}$ , we have

$$f(u(t-\tau)) \ge (f_0-\epsilon)u(t-\tau), \quad t \in [\theta, 1-\theta].$$

Thus we get from Lemma 1.3 that for  $u \in \partial K_{r_3}$ ,

$$\begin{aligned} \|T_{\lambda}u\| &\ge \lambda \sup_{t \in [0,1]} \int_{0}^{1} G(t,s)b(s)f(u(s-\tau)) ds \\ &\ge \lambda \sup_{t \in [0,1]} \int_{\theta}^{1-\theta} G(t,s)b(s)(f_{0}-\epsilon)u(s-\tau) ds \\ &\ge \lambda(\theta-\tau)(f_{0}-\epsilon) \sup_{t \in [0,1]} \int_{\theta}^{1-\theta} G(t,s)b(s) ds \|u\| \\ &> \|u\| \end{aligned}$$

for  $\lambda > \frac{1}{(\theta - \tau)f_0B_1} > 0$ . It follows from Lemma 1.2 that

$$i(T_{\lambda}, K_{r_3}, K) = 0$$
  $(r_3 < 1)$  for  $\lambda > \frac{1}{(\theta - \tau) f_0 B_1} > 0.$  (2.6)

For the case:  $\alpha = \infty$ , one can take  $0 < \epsilon < f_{\infty}$  such that

$$\frac{1}{(\theta-\tau)(f_{\infty}-\epsilon)B_1} < \lambda < \frac{1-g_M}{M(1)B_2}.$$

By  $f_{\infty} > 0$ , there is  $\hat{R} > 1$  such that  $f(u) \ge (f_{\infty} - \epsilon)u$  for  $u \ge \hat{R}$ . Take  $r_4 > \frac{\hat{R}}{\theta - \tau}$ . Then for  $u \in \partial K_{r_4}$ , we have from Lemma 1.3 that

$$u(t-\tau) \ge (\theta-\tau) \|u\| \ge \hat{R}, \quad t \in [\theta, 1-\theta]$$

which implies that for  $u \in \partial K_{r_4}$ ,

$$f(u(t-\tau)) \ge (f_{\infty}-\epsilon)u(t-\tau), \quad t \in [\theta, 1-\theta].$$

Thus we have that for  $u \in \partial K_{r_4}$ ,

$$\|T_{\lambda}u\| \ge \lambda \sup_{t \in [0,1]} \int_{0}^{1} G(t,s)b(s) f(u(s-\tau)) ds$$
  
$$\ge \lambda \sup_{t \in [0,1]} \int_{\theta}^{1-\theta} G(t,s)b(s)(f_{\infty}-\epsilon)u(s-\tau) ds$$
  
$$\ge \lambda(\theta-\tau)(f_{\infty}-\epsilon) \sup_{t \in [0,1]} \int_{\theta}^{1-\theta} G(t,s)b(s) ds \|u\|$$
  
$$> \|u\|$$

for  $\lambda > \frac{1}{(\theta - \tau)f_{\infty}B_1} > 0$ . It follows again from Lemma 1.2 that

$$i(T_{\lambda}, K_{r_4}, K) = 0$$
  $(r_4 > 1)$  for  $\lambda > \frac{1}{(\theta - \tau) f_{\infty} B_1} > 0.$  (2.7)

1160

1161

On the other hand, Lemma 2.1(ii) shows that

$$i(T_{\lambda}, K_{r_0}, K) = 1$$
  $(r_0 = 1)$  for  $0 < \lambda < \frac{1 - g_M}{M(1)B_2}$ . (2.8)

Therefore we have from the additivity of fixed point index that for the case  $\alpha = 0^+$ ,

$$i(T_{\lambda}, K_{r_0} \setminus \overline{K}_{r_3}, K) = i(T_{\lambda}, K_{r_0}, K) - i(T_{\lambda}, K_{r_3}, K) = 1$$
(2.9)

for  $\frac{1}{(\theta-\tau)f_0B_1} < \lambda < \frac{1-g_M}{M(1)B_2}$ , and that for the case  $\alpha = \infty$ ,

$$i(T_{\lambda}, K_{r_4} \setminus \overline{K}_{r_0}, K) = i(T_{\lambda}, K_{r_4}, K) - i(T_{\lambda}, K_{r_0}, K) = -1$$
(2.10)

for  $\frac{1}{(\theta-\tau)f_{\infty}B_1} < \lambda < \frac{1-g_M}{M(1)B_2}$ . Thus we can conclude that for the case  $\alpha = 0^+$ ,  $T_{\lambda}$  has a fixed point u in  $K_{r_0} \setminus \overline{K}_{r_3}$  with  $r_3 < \|u\| < r_0$ , which implies that (1.1)–(1.2) has a positive solution for  $\frac{1}{(\theta-\tau)f_0B_1} < \lambda < \frac{1-g_M}{M(1)B_2}$ , and that for the case  $\alpha = \infty$ ,  $T_{\lambda}$  has a fixed point u in  $K_{r_4} \setminus \overline{K}_{r_0}$  with  $r_0 < \|u\| < r_4$ , which implies that (1.1)–(1.2) has a positive solution for  $\frac{1}{(\theta-\tau)f_{\infty}B_1} < \lambda < \frac{1-g_M}{M(1)B_2}$ .

(4) From (2.6)–(2.8) and the additivity of fixed point index, we can make (2.9) and (2.10) hold simultaneously for  $\frac{1}{(\theta-\tau)\min\{f_{\alpha}\}B_{1}} < \lambda < \frac{1-g_{M}}{M(1)B_{2}}$ . It follows that  $T_{\lambda}$  has a fixed point  $u_{1}$  in  $K_{r_{0}}\setminus\overline{K}_{r_{3}}$  and a fixed point  $u_{2}$  in  $K_{r_{4}}\setminus\overline{K}_{r_{0}}$ , satisfying  $r_{3} < ||u_{1}|| < r_{0} < ||u_{2}|| < r_{4}$ . Consequently, (1.1)–(1.2) has two positive solutions for  $\frac{1}{(\theta-\tau)\min\{f_{\alpha}\}B_{1}} < \lambda < \frac{1-g_{M}}{M(1)B_{2}}$ .

- (5) It can be proved by (2.1) and (2.7).
- (6) It can be proved by (2.2) and (2.6).

(7) Let  $0 < \epsilon < \min\{f_{\alpha}\}$ . Choose  $0 < r_5 < r_6$  such that

$$f(u) > (f_0 - \epsilon)u$$
 for  $0 \le u \le r_5$ ,

and

$$f(u) > (f_{\infty} - \epsilon)u \quad \text{for } u \ge r_6.$$

Let

$$0 < \varrho < \min\left\{f_0 - \epsilon, f_\infty - \epsilon, \min\left\{\frac{f(u)}{u}: u \in \mathbb{R}^+, (\theta - \tau)r_5 \leqslant u \leqslant r_6\right\}\right\}.$$

Then we have that  $f(u) > \varrho u$  for all  $u \in \mathbb{R}^+$ . Take

$$\lambda^* = \frac{1}{\varrho(\theta - \tau)B_1}.$$

Assume that v is a positive solution of (1.1)–(1.2) with  $\lambda > \lambda^*$ , then  $v(t) = T_{\lambda}v(t)$  for  $t \in [0, 1]$ . If  $||v|| \leq r_5$ , we have that

$$f(v(t-\tau)) \ge \varrho v(t-\tau), \quad t \in [\theta, 1-\theta].$$

If  $||v|| > r_5$ , we have from Lemma 2.2 that

$$v(t-\tau) \ge (\theta-\tau) \|v\| > (\theta-\tau)r_5, \quad t \in [\theta, 1-\theta],$$

which implies that

$$f(v(t-\tau)) \ge \varrho v(t-\tau), \quad t \in [\theta, 1-\theta].$$

Thus we have that

$$\|v\| = \|T_{\lambda}v\| \ge \lambda \sup_{t \in [0,1]} \int_{0}^{1} G(t,s)b(s)f(v(s-\tau)) ds$$
$$\ge \lambda \sup_{t \in [0,1]} \int_{\theta}^{1-\theta} G(t,s)b(s)f(v(s-\tau)) ds$$
$$\ge \lambda \sup_{t \in [0,1]} \int_{\theta}^{1-\theta} G(t,s)b(s)\varrho v(s-\tau) ds$$
$$\ge \lambda \varrho(\theta-\tau) \sup_{t \in [0,1]} \int_{\theta}^{1-\theta} G(t,s)b(s) ds \|v\|$$
$$> \|v\|,$$

which is a contradiction.

(8) Take  $\epsilon > 0$ . By Lemma 2.2 we have that  $\tilde{f}^0 < \infty$ ,  $\tilde{f}^\infty < \infty$ . Choose  $0 < r_7 < r_8$  such that  $\tilde{f}(t) \leq (\tilde{f}^0 + \epsilon)t$  for  $0 < t \leq r_7$ , and  $\tilde{f}(t) \leq (\tilde{f}^\infty + \epsilon)t$  for  $t \geq r_8$ . Let

$$\rho > \max\left\{\tilde{f}^0 + \epsilon, \, \tilde{f}^\infty + \epsilon, \, \max_{r_7 \leqslant t \leqslant r_8} \frac{f(t)}{t}\right\} > 0.$$

Then  $\tilde{f}(t) < \rho t$  for all t > 0. Take

$$\lambda^* = \frac{1 - \beta(1)}{B_2 \rho}.$$

Assume that the problem (1.1)–(1.2) has a positive solution v for  $0 < \lambda < \lambda^*$ , then  $v(t) = T_{\lambda}v(t)$  for  $t \in [0, 1]$ . Thus we have that for each  $t \in [0, 1]$ ,

$$\|v\| \leq \lambda \int_{0}^{1} s(1-s)b(s)f(v(s-\tau))ds + g\left(\int_{0}^{1} v(s)d\beta(s)\right)$$
  
$$\leq \lambda \int_{0}^{1} s(1-s)b(s)\tilde{f}(\|v\|)ds + \int_{0}^{1} v(s)d\beta(s)$$
  
$$\leq \lambda \int_{0}^{1} s(1-s)b(s)ds\rho\|v\| + \beta(1)\|v\|$$
  
$$< \|v\|,$$

which is a contradiction.

The proof of Theorem 2.1 is completed.  $\Box$ 

Remark 2.1. If we assume that

(A<sub>2</sub><sup>\*</sup>) 
$$g \in C(\mathbb{R}^+, \mathbb{R}^+), g(t) \leq t \text{ for } t > 0, \text{ and } \beta(1) < 1,$$

then by similar arguments we have the following result.

**Theorem 2.2.** Assume that  $(A_1)$ ,  $(A_2^*)$  and  $(A_3)$ - $(A_5)$  hold.

- (1) If  $f^{\alpha} < \infty$  for  $\alpha = 0^+$  or  $\infty$ , then (1.1)–(1.2) has at least one positive solution for  $\lambda \in \left(\frac{1}{m(1)B_1}, \frac{1-\beta(1)}{f^{\alpha}B_2}\right).$ (2) If  $f^{\alpha} < \infty$  for  $\alpha = 0^+$  and  $\infty$ , then (1.1)–(1.2) has at least two positive solutions for
- (2) If  $f < \infty$  for  $\alpha = 0^{-1}$  and  $\infty$ , then (1.1)–(1.2) has at least two positive solutions for  $\lambda \in (\frac{1}{m(1)B_1}, \frac{1-\beta(1)}{\max\{f^{\alpha}\}B_2})$ . (3) If  $f_{\alpha} > 0$  for  $\alpha = 0^+$  or  $\infty$ , then (1.1)–(1.2) has at least one positive solution for  $\lambda \in (\frac{1}{(\theta-\tau)f_{\alpha}B_1}, \frac{1-\beta(1)}{M(1)B_2})$ . (4) If  $f_{\alpha} > 0$  for  $\alpha = 0^+$  and  $\infty$ , then (1.1)–(1.2) has at least two positive solutions for
- $\lambda \in \left(\frac{1}{(\theta \tau)\min\{f_{\alpha}\}B_1}, \frac{1 \beta(1)}{M(1)B_2}\right).$
- (5) If  $f^0 < \infty$  and  $f_\infty > 0$ , then (1.1)–(1.2) has at least one positive solution for  $\lambda \in (\frac{1}{(\theta \tau)f_\infty B_1}, \frac{1 \beta(1)}{f^0 B_2})$ . (6) If  $f^\infty < \infty$  and  $f_0 > 0$ , then (1.1)–(1.2) has at least one positive solution for
- $\lambda \in \left(\frac{1}{(\theta \tau)f_0 B_1}, \frac{1 \beta(1)}{f \sim B_2}\right).$ (7) If  $f_{\alpha} > 0$  for  $\alpha = 0^+$  and  $\infty$ , then (1.1)–(1.2) has no positive solution for sufficiently large
- $\lambda > 0.$
- (8) If  $f^{\alpha} < \infty$  for  $\alpha = 0^+$  and  $\infty$ , then (1.1)–(1.2) has no positive solution for sufficiently small  $\lambda > 0.$

## 3. Positive solutions of (1.3)–(1.4)

In this section we consider the positive solutions of (1.3)–(1.4). The Banach space X and the cone  $K \subset X$  are given by the forms in Section 2. The problem (1.3)–(1.4) is equivalent to the fixed point equation  $T_{\lambda}u = u, u \in K$ , where  $T_{\lambda}: K \to X$  is defined by

$$T_{\lambda}u(t) = \begin{cases} 0, & -\tau \leq t \leq 0, \\ \lambda \int_0^1 G(t,s)b(s)f(u(s-\tau))\,ds + \sigma u(\eta)t, & 0 \leq t \leq 1. \end{cases}$$
(3.1)

The operator  $T_{\lambda}$  can be rewritten equivalently as the following form

$$T_{\lambda}u(t) = \begin{cases} 0, & -\tau \leq t \leq 0, \\ -\lambda \int_{0}^{t} (t-s)b(s)f(u(s-\tau))ds & \\ & -\frac{\sigma t}{1-\sigma\eta}\lambda \int_{0}^{\eta} (\eta-s)b(s)f(u(s-\tau))ds & \\ & +\frac{t}{1-\sigma\eta}\lambda \int_{0}^{1} (1-s)b(s)f(u(s-\tau))ds, & 0 \leq t \leq 1. \end{cases}$$
(3.2)

Assume that

$$B_2^* = \int_0^1 (1-s)b(s) \, ds < \infty.$$

**Lemma 3.1.** Assume that  $(A_3)$ – $(A_6)$  hold. Take  $r_0 = 1$ . Then

(i)  $i(T_{\lambda}, K_{r_0}, K) = 0$  for  $\lambda > \frac{1}{m(1)B_1} > 0$ ; (ii)  $i(T_{\lambda}, K_{r_0}, K) = 1$  for  $0 < \lambda < \frac{1-\sigma\eta}{M(1)B_{*}^{3}}$ .

**Proof.** We only show the proof of (ii). For  $u \in \partial K_{r_0}$ , since  $f(u(t - \tau)) \leq M(r_0) = M(1)$ ,  $t \in [0, 1]$ , we have by using the definition (3.2) of the operator  $T_{\lambda}$  that

$$T_{\lambda}u(t) \leq \frac{1}{1-\sigma\eta}\lambda \int_{0}^{1} (1-s)b(s)f(u(s-\tau))ds$$
$$\leq \frac{1}{1-\sigma\eta}\lambda \int_{0}^{1} (1-s)b(s)dsM(1)$$
$$< 1 = ||u||, \quad t \in [0,1].$$

This implies that  $||T_{\lambda}u|| \leq ||u||, u \in \partial K_{r_0}$ . In view of Lemma 1.2, we have that  $i(T_{\lambda}, K_{r_0}, K) = 1$ for  $0 < \lambda < \frac{1-\sigma\eta}{M(1)B_2^*}$ .

**Theorem 3.1.** Assume that  $(A_3)$ - $(A_6)$  hold.

- (1) If  $f^{\alpha} < \infty$  for  $\alpha = 0^+$  or  $\infty$ , then (1.3)–(1.4) has at least one positive solution for
- (1) If f ~ ∞ for α = 1 → η λ ∈ (1/m(1)B<sub>1</sub>, 1-ση/fαB<sub>2</sub>\*).
  (2) If f<sup>α</sup> < ∞ for α = 0<sup>+</sup> and ∞, then (1.3)-(1.4) has at least two positive solutions for λ ∈ (1/m(1)B<sub>1</sub>, 1-ση/max{f<sup>α</sup>}B<sub>2</sub>\*).
- (3) If  $f_{\alpha} > 0$  for  $\alpha = 0^+$  or  $\infty$ , then (1.3)–(1.4) has at least one positive solution for  $\lambda \in (\frac{1}{(\theta \tau)f_{\alpha}B_1}, \frac{1 \sigma\eta}{M(1)B_2^*}).$
- (4) If  $f_{\alpha} > 0$  for  $\alpha = 0^+$  and  $\infty$ , then (1.3)–(1.4) has at least two positive solutions for  $\lambda \in (\frac{1}{(\theta-\tau)\min\{f_{\alpha}\}B_1}, \frac{1-\sigma\eta}{M(1)B_2^*}).$
- (5) If  $f^0 < \infty$  and  $f_\infty > 0$ , then (1.3)–(1.4) has at least one positive solution for  $\lambda \in (\frac{1}{(\theta \tau)f_\infty B_1}, \frac{1 \sigma \eta}{f^0 B_2^*}).$
- (6) If  $f^{\infty} < \infty$  and  $f_0 > 0$ , then (1.3)–(1.4) has at least one positive solution for  $\lambda \in \left(\frac{1}{(\theta - \tau)f_0B_1}, \frac{1 - \sigma \eta}{f^{\infty}B_2^*}\right).$
- (7) If  $f_{\alpha} > 0$  for  $\alpha = 0^+$  and  $\infty$ , then (1.3)–(1.4) has no positive solution for sufficiently large  $\lambda > 0.$
- (8) If  $f^{\alpha} < \infty$  for  $\alpha = 0^+$  and  $\infty$ , then (1.3)–(1.4) has no positive solution for sufficiently small  $\lambda > 0.$

**Proof.** We only show the proofs of (1). (2)–(8) can be proved by the similar arguments of dealing with Theorem 2.1(2)–(8), respectively.

(1) First we consider the case:  $\alpha = 0^+$ . Take a sufficiently small positive number  $\epsilon > 0$ , such that  $0 < \lambda < \frac{1-\sigma\eta}{(f^0+\epsilon)B_s^*}$ . By  $f^0 < \infty$ , we have from Lemma 2.2 that there exists  $r_1: 0 < r_1 < 1$ such that

$$\tilde{f}(t) < (\tilde{f}^0 + \epsilon)t = (f^0 + \epsilon)t, \quad 0 < t \le r_1.$$

Thus we have by using the definition (3.2) of the operator  $T_{\lambda}$  that for  $u \in \partial K_{r_1}$ ,

$$T_{\lambda}u(t) \leqslant \frac{1}{1-\sigma\eta}\lambda \int_{0}^{1} (1-s)b(s)f(u(s-\tau))ds$$
$$\leqslant \frac{1}{1-\sigma\eta}\lambda \int_{0}^{1} (1-s)b(s)\tilde{f}(r_{1})ds$$
$$\leqslant \frac{1}{1-\sigma\eta}\lambda (f^{0}+\epsilon)r_{1}\int_{0}^{1} (1-s)b(s)ds$$
$$< r_{1} = ||u||.$$

It follows that  $||T_{\lambda}u|| \leq ||u||$ ,  $u \in \partial K_{r_1}$ . In view of Lemma 1.2, we get that  $i(T_{\lambda}, K_{r_1}, K) = 1$  $(0 < r_1 < 1)$  for  $0 < \lambda < \frac{1-\sigma\eta}{f^0 B_2^*}$ .

Now we consider the case:  $\alpha = \infty$ . Take a sufficiently small positive number  $\epsilon > 0$  such that  $0 < \lambda < \frac{1-\sigma\eta}{(f^{\infty}+\epsilon)B_2^*}$ . By  $f^{\infty} < \infty$ , we have from Lemma 2.2 that there exists  $r_2 > 1$  such that  $\tilde{f}(t) \leq (f^{\infty} + \epsilon)t, t \geq r_2$ . Then we have by using the definition (3.2) of the operator  $T_{\lambda}$  that for  $u \in \partial K_{r_2}$ ,

$$T_{\lambda}u(t) \leqslant \frac{1}{1-\sigma\eta}\lambda \int_{0}^{1} (1-s)b(s)f(u(s-\tau))ds$$
$$\leqslant \frac{1}{1-\sigma\eta}\lambda \int_{0}^{1} (1-s)b(s)\tilde{f}(r_{2})ds$$
$$\leqslant \frac{1}{1-\sigma\eta}\lambda (f^{\infty}+\epsilon)r_{2}\int_{0}^{1} (1-s)b(s)ds$$
$$< r_{2} = ||u||,$$

which implies that  $||T_{\lambda}u|| \leq ||u||$ ,  $u \in \partial K_{r_2}$ . Again by Lemma 1.2, we have  $i(T_{\lambda}, K_{r_2}, K) = 1$  $(r_2 > 1)$  for  $0 < \lambda < \frac{1-\sigma\eta}{f^{\infty}B_2^*}$ .

On the other hand, Lemma 3.1(i) shows that  $i(T_{\lambda}, K_{r_0}, K) = 0$   $(r_0 = 1)$  for  $\lambda > \frac{1}{m(1)B_1}$ . Thus we have from the additivity of fixed point index that for the case  $\alpha = 0^+$ ,

$$i(T_{\lambda}, K_{r_0} \setminus \overline{K}_{r_1}, K) = i(T_{\lambda}, K_{r_0}, K) - i(T_{\lambda}, K_{r_1}, K) = -1,$$

for  $\frac{1}{m(1)B_1} < \lambda < \frac{1-\sigma\eta}{f^0 B_2^*}$ , and that for the case  $\alpha = \infty$ ,

$$i(T_{\lambda}, K_{r_2} \setminus \overline{K}_{r_0}, K) = i(T_{\lambda}, K_{r_2}, K) - i(T_{\lambda}, K_{r_0}, K) = 1,$$

for  $\frac{1}{m(1)B_1} < \lambda < \frac{1-\sigma\eta}{f^{\infty}B_2^*}$ . Therefor for each case that  $\alpha = 0^+$  and  $\alpha = \infty$ , the problem (1.3)–(1.4) has at least one positive solution for  $\frac{1}{m(1)B_1} < \lambda < \frac{1-\sigma\eta}{f^0B_2^*}$  and  $\frac{1}{m(1)B_1} < \lambda < \frac{1-\sigma\eta}{f^{\infty}B_2^*}$ , respectively.  $\Box$ 

**Remark 3.1.** Clearly, Theorem 2.2 applies to the boundary value problem (1.3)–(1.4). Since the condition (A<sub>6</sub>) allows of  $\sigma \ge 1$ , Theorem 3.1 is better than Theorem 2.2. However, as viewed from the length of interval of  $\lambda$ , neither is better than another.

### Acknowledgment

The authors are very grateful to the referee for his/her helpful comments.

## References

- M. Moshinsky, Sobre los problemas de condiciones a la frontiera en una dimension de características discontinuas, Bol. Soc. Mat. Mexicana (3) 7 (1950) 1–25.
- [2] T. Timoshenko, Theory of Elastic Theory, McGraw-Hill, New York, 1971.
- [3] V. Il'in, E. Moiseev, Nonlocal boundary value problem of the first kind for a Sturm–Liouville operator in its differential and finite difference aspects, J. Differential Equations 23 (1987) 803–810.
- [4] C. Gupta, Solvability of a three-point nonlinear boundary value problem for a second-order ordinary differential equation, J. Math. Anal. Appl. 168 (1992) 540–551.
- [5] C. Gupta, S. Ntouyas, P. Tsamatos, Solvability of an *m*-point boundary value problem for second order ordinary differential equations, J. Math. Anal. Appl. 189 (1995) 575–584.
- [6] W. Feng, J. Webb, Solvability of an *m*-point boundary value problems with nonlinear growth, J. Math. Anal. Appl. 212 (1997) 467–480.
- [7] R. Ma, Positive solutions for second-order three-point boundary-value problems, Appl. Math. Lett. 14 (2001) 1-5.
- [8] R. Ma, Existence of positive solutions for superlinear semipositone *m*-point boundary-value problems, Proc. Edinb. Math. Soc. 46 (2003) 279–292.
- [9] L. Erbe, Q. Kong, Boundary value problems for singular second-order functional differential equations, J. Comput. Appl. Math. 53 (1994) 377–388.
- [10] D. Bai, Y. Xu, Existence of positive solutions for boundary value problems of second-order delay differential equations, Appl. Math. Lett. 18 (2005) 621–630.
- [11] D. Bai, Y. Xu, Positive solutions of second-order two-delay differential systems with twin-parameter, Nonlinear Anal. 63 (2005) 601–617.
- [12] D. Bai, Y. Xu, Positive solutions and eigenvalue regions of two-delay singular systems with twin-parameter, Nonlinear Anal., in press.
- [13] D. Jiang, J. Wang, On boundary value problems for singular second-order functional differential equations, J. Comput. Appl. Math. 116 (2000) 231–241.
- [14] D. Jiang, Multiple positive solutions for boundary value problems of second-order delay differential equations, Appl. Math. Lett. 15 (2002) 575–583.
- [15] R. Ma, Positive solutions for a nonlinear three-point boundary value problem, Electron. J. Differential Equations 34 (1999) 1–8.
- [16] D. Guo, V. Lakshmikantham, Nonlinear Problems in Abstract Cones, Academic Press, Orlando, FL, 1988.
- [17] M. Krasnoselskii, Positive Solutions of Operator Equations, Noordhoff, Groningen, 1964.
- [18] K. Deimling, Nonlinear Functional Analysis, Springer, Berlin, 1985.
- [19] H. Wang, On the number of positive solutions of nonlinear systems, J. Math. Anal. Appl. 281 (2003) 287-306.